Appendix A: Process for estimating 4

A was specified through the following steps. Firstly, three NTPs were defined for
modeling potential movements across the study area. Tohid Square-Azar Bridge, Azadi
Square-Shariati Square, and Takhti Square-Vafaei Square was considered as prism
anchors for representing mobility across the central, southern, and northern parts of the
study area, respectively. Secondly, a rout including sample trajectories was selected
from each NTP. Thirdly, ordinary least square (OLS) method was used for calibrating A.
The results for three NTPs are displayed in Figure 1A. As the coefficient of determination
(R?) was acceptable, 0.016 value was considered for transition rate and used in the
model calculation process.
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Figure 1A: Sample trajectories along routes from three selected NTPs



Appendix B: Detailed outputs of accessibility to the markets in the
first policy “market exclusion and area expansion”
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Figure 1B: Results of accessibility computation for the first policy



